Rozwigzania do zadan z dnia 30 wrzesnia ASD

1. Zadanie
a. f,,f3,f;
b. f,,f,f3
c. faf3,fof1
d. f3,f4,f5,f1

2. Zadanie (Na zielono poprawne, na czerwono btedne)

] Eldme/T) F(n}zﬂ!n%lgn) L) et |) -

gdzie f (n) = nsin? (n),

2" ikl una_a.(.n.'ﬂ) Slaal)

gdzle f(n)= Ign

3f (n {V’_ - Snlgnz ),fm:ﬁ{n},

gdzie f{n}—n |sin (n)],
Af (n)=of [z 32 ]2) (@ =0(y/n), f(n)=0 1—n—‘),
gdzie f (n) =lg ny/n.
3. Zadanie
a. Yi—,log,i=1og,1+1og,2+1og,3+--+1log,n=
log,(1 %2 %3 *--%n) =log, n! =n *log, n czyli
n * log, n = Q(n) PRAWDA

b. log, >, i =1log,(1+2+3+--4+n)=log, n*(2+1) =

log,((1 +n) *n) — log, 2 =log,((1+n) *xn) — 1
czylilog,((1+n) *n) — 1 = Qvn FALUSZ
4. Zadanie
a. fe,f1,f5,f3,f5,f4
b. fe,fs,f2,f4,f1,f3
c. fs,fy,f6,f3,f4,f1
d. f4,fs5,f3,f5,f6,f1



